[ Efficiency vs vertpos |
0.8

...........................................

LT S
0.4;—% : T%‘hﬁ# :

etficiency vs vert r
o
()]
e
L —H—
—

................................................

03—-~~-~~§ ------------ ;-f+ ------- ------------

] SO N T T —

S g

2| SRR TIT! BRI T BT,

o 1B + +
g 5 ;
o g AT | NG
1 ___"r Al P R
0.951 | TT :

1072 10 0?
TP vertr (cr%)

MKEI_TToriginal
mkFit_TT_JanUpdate-noErr
mkFit_TT_JanUpdate-statErr
mkFit TT JanUpdate-systErr

<4

DQ
DQ
Efficiend —— B3

1.2

X S [ e S s S

efticiency vs vert z
T

Ratio

0¥/ —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
0.8

e s o
0.6

0.5

efficiency vs Sim. PV z

O LIS MRS S

X e

ek SEE St S AU S0 E s

s e s et O £

Ratio

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


